
Caractéristiques de l'épreuve

3X Bondy Pornic Tours

Joueurs : 312 M = 624 D = 2

Joueurs par Série : Total :

Serie 1 : A : 6 B : 5 11

Serie 2 : A : 12 B : 9 21

Serie 3 : A : 16 B : 13 29

Serie 4 : A : 62 B : 27 C : 26 D : 15 130

Serie 5 : A : 44 B : 25 C : 15 D : 12 96

Serie 6 : A : 11 B : 2 C : 2 D : 2 17

Serie 7 : 8 8

Pornic (Sainte-Marie) TH3

Joueurs : 96 M = 0 D = 0

Joueurs par Série : Total :

Serie 1 : A : 0 B : 1 1

Serie 2 : A : 2 B : 2 4

Serie 3 : A : 4 B : 2 6

Serie 4 : A : 17 B : 5 C : 7 D : 5 34

Serie 5 : A : 14 B : 17 C : 5 D : 6 42

Serie 6 : A : 4 B : 1 C : 0 D : 0 5

Serie 7 : 4 4

Bondy TH3

Joueurs : 72 M = 0 D = 0

Joueurs par Série : Total :

Serie 1 : A : 2 B : 3 5

Serie 2 : A : 4 B : 4 8

Serie 3 : A : 1 B : 5 6

Serie 4 : A : 11 B : 9 C : 5 D : 5 30

Serie 5 : A : 9 B : 2 C : 2 D : 4 17

Serie 6 : A : 2 B : 0 C : 2 D : 0 4

Serie 7 : 2 2

Tours TH3

Joueurs : 144 M = 0 D = 0

Joueurs par Série : Total :

Serie 1 : A : 4 B : 1 5

Serie 2 : A : 6 B : 3 9

Serie 3 : A : 11 B : 6 17

Serie 4 : A : 34 B : 13 C : 14 D : 5 66

Serie 5 : A : 21 B : 6 C : 8 D : 2 37

Serie 6 : A : 5 B : 1 C : 0 D : 2 8

Serie 7 : 2 2

Page 1


